


D-SUBMINIATURE HARDWARE

Female Screw Lock Assemblies

SCREWS

2 WASHERS

4.60
(18W”)<BOTH SCREW AND NUT)

LOCK WASHERS

. T
»l Li Screwlock/nut: Steel, tin plated
Washer: Steel, tin plated
Lock washer: XC 35, tin plated
P/N Quantity | Packaging | Plating A B L
L17D20418 2 X 10 Screws Bag Tin 4-40 4-40 8.3mm (.327")
L17D20418 2M3 X 10 Screws Bag Tin M3 4-40 8.3mm (.327")
L17D20418 33 X 10 Screws Bag Tin M3 4-40 8.5mm (.335")
L17D20418 M3 X 10 Screws Bag Tin M3 M3 8.3mm (.327")
L17D20418 2L X 10 Screws Bag Tin 4-40 4-40 13mm (.511")
L17D20418 2LM3 X 10 Screws Bag Tin M3 4-40 13mm (.511")
L17D20418 2SM3 X 10 Screws Bag Tin M3 4-40 |15.8mm (.622")
L17D20418 39 X 10 Screws Bag Tin 4-40 4-40 |15.8mm (.622")
L17D20418 2T X 10 Screws Bag Tin 4-40 4-40 8.3mm (.327")
L17D20418 43 X 10 Screws Bag Tin M3 4-40 8.5mm (.311")

Screw lock assemblies are sold in bags of ten sets. 2 sets are required per connector

Amphenol



D-SUBMINIATURE HARDWARE

Metal Dust Cover

Material: Steel
Plating: Tin plated
Number of Contacts Cover for Cover for
Description Shell Size ) Socket Plug
Standfslrd ngh Connector Connector
Density Density
E 9 15 L17D 4K 63010 L17D 4K 63110
A 15 26 L17D 4K 63016 L17D 4K 63116
Metal Dust Cover,
Without Chain B 25 44 L17D 4K 63026 L17D 4K 63126
C 37 62 L17D 4K 63038 L17D 4K 63138
D 50 78 L17D 4K 63051 L17D 4K 63151
E 9 15 L17D 4K 63009 L17D 4K 63109
Metal Dust Cover A 15 26 L17D 4K 63015 L17D 4K 63115
us ver,
With Chain B 25 44 L17D 4K 63025 L17D 4K 63125
C 37 62 L17D 4K 63037 L17D 4K 63137
D 50 78 L17D 4K 63050 L17D 4K 63150

Amphenol




D-SUBMINIATURE HARDWARE

Slide Lock Assemblies

Plate Material: Steel, tin plated
Mounting Screws: Steel, tin plated
(Bag contains 1 plate, 2 mounting screws, 2
nuts, 4 washers and 2 locking washers)

Locking Post Assembly
P.N. L17D 53018 X (10/bag)

Post Screw: Steel, tin plated
(Bag contains 10 mounting screws, 10 nuts,
20 washers and 10 locking washers)

LOCK WASHER

4,90(.193)

T HEX. FLATS
ﬁ —
A I
k=4

& |y SCREWLOCK
]

" 2 WASHERS .031 THK.

© i;r I;]E\ J )j]:_ HE®. MUT
y )
Al | o T
NES #4—40 UNC 24
5
[~
Slide lock and locking post assemblies sold separately
Shell Size Part No. A B C
E L17D 51224 1 35mm (1.378") 12.6mm (.496") | 27.4mm (1.079")
A L17D 512201 43.3mm (1.705") | 12.6mm (.496") | 35.7mm (1.406")
B L17D 512211 57.5mm (2.264") | 12.6mm (.496") | 49.47mm (1.948")
C L17D 51222 1 74.2mm (2.921") [ 12.6mm (.496") | 65.9mm (2.594")
D L17D 512231 71.5mm (2.815") | 15.1mm (.594") | 63.5mm (2.500")

Amphenol




D-SUBMINIATURE HARDWARE

Male Screw Lock Assembly

-
=D

n,
I) 3

f

E Material:

#4—40 UNC 2A THREAD 4,80(.189)
Part No. A L E
E, A, B C Shell
L17D 20419 21 X |14.3mm (.563”) | 7.1mm (.280") | 1.4mm (.055")
L17D 20419 18 X |14.3mm (.563”) | 7.1mm (.280") | 1.0mm (.039")
L17D 20419 16 X |14.3mm (.563”) | 7.1mm (.280") | 1.2mm (.047")
L17D 20419 X 14.3mm (.563") | 7.1mm (.280") | 0.8mm (.031")
D Shell

L17D 20420 12 X |16.9mm (.665”) | 7.1mm (.280") | 1.4mm (.055")
L17D 20420 13 X |16.9mm (.665”) | 7.1mm (.280") | 1.0mm (.039")
L17D 20420 15 X |16.9mm (.665”) | 7.1mm (.280") | 1.2mm (.047")
L17D 20420 X 16.9mm (.665") | 7.1mm (.280”) | 0.8mm (.031")

Spring Latch

i Q@@

&

Steel, tin plated

N
i+

Material:

Steel, tin plated

O © O W
B
Size Part A B C D E F
No.
E,A B, C L17 529 14.8mm 15.6mm 12.3mm 14.9mm 12.6mm 14.6mm
(.583") (.614™ (.484™ (.587") (.496™) (.575")

Amphenol




